EQUATIONS, INEQUALITIES AND SYSTEMS TEST - 4° £50

Exercise 1: (1 pto) The difference of two numbers is 3 and the difference of their squares is 69. Find the
numbers. The numbers are 13 and 10

Exercise 2: (1 pto) Work out:
=20
— (10,2) and (-10,-2
x1—3y2=38} (10.2) and { )
Exercise 3: (4 ptos) Work out:
x +6x+8<0

a) } — xE[—l—Z]

9—x" =0

x*—4dx+4=0
b

0.2)u(2.3
x =3x<0 } ” IE[ 22 ]

c)
2x+yvz-1

Ix—y<b }

d) 3(x—5)+2x—T<4x+52x+1) — x=(-3,+x=)

Exercise 4: (3.25 ptos) Work out:
a)2-Tx=x+6 — x=-2
b) fSx+1—fx+6=1 — x=3

— +22 —
|[:}5 5x:2+{x ) - x=-3 xzﬂ
7 3 7
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Exercise 5: (0.75 ptos) Solve f(x) =0, where f(x) isthe function given by the graph:

e —

x € (—oo, —2]w[0, +2o)
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